EAGRAROBREERT — 2 N— ABISH —F

202053A8H (B) 2[E+114H

VLR > %4t 28I (GRA) [H8E] €2 ‘ (%] /J\Eﬁ‘ (sl — |2 (%) 16000 &
[A&£] 1 7 11,000,000 § 2 7% :4,400,000 § 3 7% :2,800,000 4 3% :1,700,000 @ 5 3 :1,100,000 M
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. # o4 | C. X—l 1:35.5 6-6-5 |35.5[102.3| 1 512 | BET (XH#)
1(5]6| 72X 57.0 fan © ) AL -2 A3
R4 7 bT—ILEY BiAY—FaLlA bFvy b HET7— L
3 i 5 | K& 1:35.9 2-2-2 |36.6| 9.7 | 3 472 | DNEEFERL (S53)
2|57 |7E—-L4 55.0 @ 1/2) 42 | @B B-LL-yry
R:/JG1UZRN B:VE—F HE ik
S s 4 | ALHEF 1:35.9 32-3 |36.5| 9.7 | 7 482 | LRIBZ (FH)
31711 Ot L—Jb 55.0 (7E) 0 ERF
R:A-X*¥>J&8L B:JL—bFr BENIRAN S
o4 | ZHE2 1:36.1 8-7-7 |35.8| 9.5 | 5 514 | &R (EH#)
4 4| BN =2 57.0 (1 1/4) () | B GUEI-- L=y
L:xvyVgdyr BT7AVIELT AR
“ A5l :36. -4 . . HRER (i)
5 g\ "T YN B4 i (173961) 3-4-4 [36.5| 96.7 | 4 zzg;) ALK
g4 7= B3 A Fr AR [ksgae
o8 S JLHERS :36. -1- . . HEl (E#
6 2 o xwihqEky [B] 4 5 Ein 1(13/62>2 1-1-1 37.5| 9%.2 | 8 (438) At
R:T7ReA Y L—> B:NUTLTY B INHINH T 7— L
3 s _ o4 | EHE 1:36.3 10-10-9 |35.8| 94.5 | 6 458 | FHEX (E#)
71710/ S EY IO 55.0 (7€) o) |BEZEE ()
L:ANTz—J) B:OvI<vA4N—h HA
= 4 5 | FPEA 1:36.4 3-4-5 |36.7|93.8 | 12 | 476 |ZFWIIEZE (Kid)
81/1|¥171-7—72 [B] 5.0 (1/2) oy | FHET
RiFvv s xeF BiTaTLINY 5% UL )
o4 | LoEa—Aay 1:36.6 12-10-9 [36.0| 91.6 | 2 458 | BORANME (i)
91813 Y/ 7= 57.0 - (1 1/4) -2) (%) HFIK—XBHr/N=—
R:F4 =427 b BEZ—XY 14—+ HBIE
SR # o7 | ANIEA 1:36.9 10-10-8 |36.4 | 88.8 | 9 504 | WEEH (i)
10 9 O—~FK7JLI7 LA 57.0 (1 3/4) (+4) (%) B—RK—2757
R:F4—TA>N7 b B:ALTF4T7FXvIL TALTAT7—L4L
3 . 4 5 | HBLBE 1:37.5 13-13-12 | 36.7 | 83.1 | 10 46 | ERR (EH)
111812 AYXA—-Ly b 57.0 (3 1/2) (+8) ZCKHIEER
LA TATv— BAYAYIZT7— LA T1ZT7—14
oy = 4 o6 | HEHEEER 1:37.8 8-7-12 | 37.5| 81.2 | 11 482 | /NEFRER ()
12 3 Ko7« 575.0 (11/2) (-2) e BEME
:aA>TFaMdy b BXAb—LIX= LA Eae ]
135 | @)y TXT) A # o6 | AW 178 6-7-9 | 37.5| 81.2 | 13 (4524) E?ﬁ ()
Lexrindio— B:ATUE F— Y= 2
@ 71 L
) 48.7-36.8
NaO>24 L | 12.5-11.7-11.2-11.4-11.9-12.1-12.0-12.
@ 1—F—@&BIEf
12—7—
Pol=5r= 2,7(1,8,11) (5,6)-(3,4) (9,10)13,12
G=57= 2-(7,11)(1,8)-6-(3,5,4) (9,10,13)12
41—+ — (7,%2)11,8(1,6)-4,9(5,10,13) (3,12)
[ RN
B OB 6 260M 714K 6-7 380M e & 5-5 880M &R 6-7-11 2,230
% B 6 150 6-11 540 | | f§ = 6-7 830/ | | EE 6-7-11 7,110M
7 1904 7-11 890M B H 6-7 1,140/
1 250H

ABRICOVTHRTEEERROODE, THEB LS,




